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Uplink Adaptive Power Control in Ka Band Satellite Communication

ZHONG Huai-dong, XU Kai, HOU L.iu-ying
(Dept. of Communication Engineering, College of Electronic Engineering, Naval Univ. of Engineering, Wuhan 430033)

Abstract In order to increase the validity of uplink power control in Ka band satellite communication(30 GHz/20 GHz), an algorithm of uplink
adaptive power control is presented. The method based on the Autoregressive Moving Average(ARMA) model can predict the rain attenuation of
uplink from the rain attenuation of downlink measured and improve the precision of power control. Simulation results show that better compensation

effects for rain attenuation can be achieved.
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